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Working with Percentages  matH

Find the missing number.
.

® 69%of70 = @ 30%o0f50 =
® of 140 = 84 @ 55%of = 66
® 12%of70 = © of 80 = 17.6
@ 25%of = 22.5 78% of 150 =
© 27%of225 = 48% of = 96
@ 69%of = 1173 o of 450 = 405
@ 30%of =9 | @& of 130 = 23.4
@ 65%of220= | @ of 145 = 101.5
@ 15%of =262 | ® of 90 = 36
33% of 134 = 42% of 188 =
@ 11% of = 13.42 @ 44% of 250 =




Working with Percentages  matH
Answers
.
® 69%of70 = 483 @ 30%o0f50 = 15
®  60% of140 = 84 @ 55%of 120 = 66
® 12%0f70 = 84 ®  22% of80 = 17.6
® 25%of 90 =225 78% of 150 = 117
® 27%o0f225 = 60.75 48% of 200 = 96
@ 69%of 1700 = 1173 @  90% of450 = 405
® 30%of 300 = 90 _ 18%  of130 = 234
® 65%0f220 = 143 _70%  of 145 = 101.5
@ 15% of 175 = 26.25 ~40%  of 90 = 36
33% of 134 = 4422 42% of 188 = 78.96
@ 11%of 122 = 13.42 @ 44%0f250 = 110
J




